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QUESTION 1

What three components are not part of EM and require separate installations? (Choose two.)
A. BTM Engine

B. RUEI Engine

C. JVM Diagnostics Engine

D. Application Discovery and Performance Management Engine

E. Ops Center

Correct Answer: DE

QUESTION 2

Which statement about JRockit Discovery Protocol (JDP) is true?

A. JDP enables network auto discovery of JVMs.

B. JDP is a subset of HTTP.

C. JDP can be used by application to exchange serialized data between JVMs.
D. JDP was initially introduced in the HotSpot VM 1.5.

Correct Answer: A

QUESTION 3

You plan to deploy your Coherence application to a new production environment. You want to ensure that the new
environment supports multicast, and that all of the machines are connected to the same physical switch for optimal
performance. What two tools will help confirm that the new environment satisfies both criteria? (Choose two.)

A. Coherence MulticastTest

B. Coherence DatagramTest

C. Coherence Console

D. Coherence CohQL Command-Line

Correct Answer: AD

http://www.oracle.com/technetwork/middleware/coherence/learnmore/oracle-coherence- 12c-deployment3049521.pdf

QUESTION 4
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You notice the following message in one of your cache server logs:

2012-08-15 07:44:09.015/3249.479 Oracle Coherence GE 3.6.1.0
<D5> (thread=Cluster, member=74): Memberleft notification for
Membz=r (Id=102, Timestamp=2012-08-15 07:42:20.395, Ad-
ress=10.84.101.77:8088, MachineId=15181, Locaticn=machine:
coh0%, process:20191, Role=CoherenceSserver recelived from Member
(Id=1, Timestamp=2012-08-15 02:27:53.322, Ad-
dress=10.104.43.204:8088, MachineId=53671,
Location=machine: coh0l, process:1746, Role=CoherenceServer)

Which statement correctly explains this message?

A. Member 102 received a MemberLeft message from the senior member (member 1) that member 74 has left the
cluster.

B. Member 1 received a MemberLeft message from the senior member (member 74) that member 102 has left the
cluster.

C. Member 1 received a MemberLeft message from the senior member (member 102) that member 74 has left the
cluster.

D. Member 74 received a MemberLeft message from the senior member (member 1) that member 102 has left the
cluster.

Correct Answer: A

QUESTION 5

Your customer is a financial services company that uses a large compute grid (not Coherence) to do risk calculations.
Objects representing risk scenarios are cached in Coherence. When these objects are updated, they are sent to the
compute grid to recalculate risk via a continuous query cache. Assume that there are 100 compute servers in one data
center and 100 GB of cached data. The customer is not worried about potential cluster instability, given their network
design.

Which solution supports the customer\\'s requirements? Keep in mind licensing costs and features by edition.

A. Coherence Standard Edition. Nothing special is needed and Standard Edition is the low- cost option.

B. Coherence Enterprise Edition, with the compute grid clients being storage-disabled cluster members.

C. Coherence Grid Edition, with the compute grid clients being storage-disabled Coherence cluster members.

D. Coherence Enterprise Edition, with the compute grid running against a set of Coherence*Extend proxies and
continuous query cache on Coherence*Extend clients.

Correct Answer: A
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